TABLE ASSEMBLY
INSTRUCTIONS

TB1600




TABLE ASSEMBLY
INSTRUCTIONS
TB1600

> g

TABLE LEG STRETCHER SPACER
X3 X3 X3
ATB-P0O086 ATB-P0087 ATB-PO0?1

LEFT REAR SEAT LEFT FRONT SEAT

ATB-P00%6 SEATING SUPPORT

X6
ATB-P0092

n “ﬂ HUB CONNECTOR
llh X1

LEFT SEAT LEG
ATB-P0O089 ATB-P0090

7 /

RIGHT REAR SEAT RIGHT FRONT SEAT
X3 X3 X3 X3
ATB-PO105 ATB-PO106 ATB-PO107 ATB-PO108

RIGHT SEAT LEG
X3

TABLE TOP ASSEMBLY
X1
ATB-A0061

COMPONENTS

e 110




TABLE ASSEMBLY
INSTRUCTIONS
TB1600

3/8" X 4.25" HEX HEAD BOLT #12 X 2.5" DECK SCREW
X21 X66
FOOO1 FO002
&
O
A
3/8" FLAT WASHER 3/8" NYLOCK NUT
X42 X21
FOOO3 FO004

REQUIRED TOOLS

sr!g/-gslyv(\:[kgﬁgg) NOTE: IT IS IMPORTANT TO KEEP ALL BOLTS FINGER TIGHT

1-9/16" SOCKET DURING ASSEMBLY UNTIL ENTIRE TABLE IS ASSEMBLED
1 - SCREW GUN

1 - RUBBER MALLET HARDWARE &
1 - #3 SQUARE DRIVE BIT 2/10
FOR ASSEMBLY



TABLE ASSEMBLY

INSTRUCTIONS
TB1600

ATB-P0O089

ATB-P0O090

ATB-P0O087

NOTE:
PLACE COUNTERSINKS
FACING DOWN

FO002

ASSEMBLE



TABLE ASSEMBLY
INSTRUCTIONS
TB1600

ATB-P0086

ATTACH



TABLE ASSEMBLY

INSTRUCTIONS
TB1600

ATB-P0092

ATB-P0O0?1
— FO004

FOO03

FOO03

FOO0O1
ASSEMBLE

SEATING 5/10
SUPPORT




TABLE ASSEMBLY

INSTRUCTIONS
TB1600

SEATING
SUPPORT
ASSEMBLY

FOOOT

FO003
ATTACH SEATING 6/1 0
FO004 SUPPORT ASSEMBLY



TABLE ASSEMBLY
INSTRUCTIONS
TB1600

ATTACH



TABLE ASSEMBLY

INSTRUCTIONS
TB1600
FO0O]
NOTE: REPEAT STEPS FOUND ON PAGES 3-7 __
FOR REMAINING TABLE LEG ASSEMBLY. /’
' FO003
- 9
ATB-PO096

TABLE LEG ASSEMBLY

ASSEMBLE LOWER
TABLE LEG ASSEMBLY | TABLE FRAME 8/10




TABLE ASSEMBLY

INSTRUCTIONS
TB1600

ATB-A0061

PLACE TABLE TOP
ON TOP OF LOWER TABLE FRAME.

CAUTION: TABLE TOP IS HEAVY.

w TO PREVENT INJURY, USE 2 PEOPLE
—_——— = FOR THIS STEP.

ALIGN HOLES b

ATTACH TABLE

TOP ASSEMBLY
TO TABLE FRAME 9/1 0




Su
-
0 v
=2
o
s_l
<3
W o
-
ms
=<

(=]
Q
()
1
[+1]
-

10/10

FASTEN TABLE TOP
TO TABLE FRAME



TABLE ASSEMBLY
SPECIFICATIONS e
TB1600

70.462

dl

TOP

NOTE: ALL MATERIAL IS RECYCLED PLASTIC LUMBER UNLESS NOTED



TABLE ASSEMBLY

SPECIFICATIONS

- = 46.188 -

INJECTION MOLDED / —— A
PLASTIC HUB CONNECTOR

®1.750 Y e /

@ SEAT DETAILS




	COVER
	Drawing View62

	PG 1
	Drawing View63
	Drawing View64
	Drawing View65
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View71
	Drawing View102
	Drawing View103
	Drawing View104
	Drawing View105
	Drawing View106

	PG 2
	Drawing View27
	Drawing View32
	Drawing View37
	Drawing View72

	PG 3
	Drawing View73
	Detail View N (1 : 4)

	PG 4
	Drawing View75
	Detail View N (1 : 4)

	PG 5
	Drawing View79
	Detail View T (1 : 4)
	Detail View U (1 : 4)

	PG 6
	Drawing View85
	Detail View V (1 : 4)
	Detail View W (1 : 4)

	PG 7
	Drawing View88
	Detail View AB (1 : 2)
	Drawing View107
	Detail View AF (1 : 2)

	PG 8
	Drawing View93
	Detail View AC (1 : 6)
	Detail View AD (1 : 3)

	PG 9
	Drawing View97

	PG 10
	Drawing View100
	Detail View AE (1 : 6)

	SPECS 1
	Drawing View109
	Drawing View110

	SPECS 2
	Drawing View111
	Drawing View113
	Detail View B (1 : 4)
	Detail View D (1 : 16)
	Drawing View115
	Detail View E (1 : 12)


